
  

 
 

                                                                                                         Error Detection/Spotting Rules 
Questions & Solutions 

www.practicemock.com                                                                  1                                         info@practicemock.com  011-49032737 

 

 
 

Important Error Detection/Spotting Rules Questions For 

SBI Clerk 2024 Prelims 
 

In the following question, one part of the sentence may have an error. Find out 

which part of the sentence has an error and select the appropriate option. If the 

sentence is free from error, select ‘No Error’. 

(1) The boat came over the horizon like a ghost, 

(2) which sinked during the battle, 

(3) in which more than 1,000 U.S. 

(4) service members were killed. 

(5) No error 

 

Ans: 2 

 

Solution: Option (b) is the correct answer. The sentence talks about the past. 

So, we need to use ‘SANK’ instead of ‘SINKED’, as the second form of the verb 

‘SINK’ is ‘SANK’ not ‘SINKED’. The sentence talks about sinking a boat (in a 

battle) in which more than 1,000 U.S. service members were killed, but the boat 

came over the horizon out of nowhere like a ghost. 

(1) Brando won the best actor Oscar in 1973 

(2) for his role in the Godfather but did not 

(3) attended the ceremony, protesting 

(4) in support of Native American rights. 

(5) No error 

 

Ans: 3 
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Solution: Option (c) is the correct answer. The sentence is framed in the simple 

past tense, so we need to replace the second form of the verb ‘ATTENDED’ with 

‘ATTEND’, as the helping verb ‘DID’ takes the base form of a verb with it. The 

sentence tells us that Brando won the Oscar but was not present at the ceremony 

as he was protesting in support of Native American rights. 

(1) Young people today are facing unique 

(2) challenges, which will threaten the future 

(3) and aspirations of an entire 

(4) generation if we don’t acted. 

(5) No error 

 

Ans: 4 

 

Solution: Option (d) is the correct answer. Replace the second form of the verb 

‘ACTED’ with the base form ‘ACT’. The sentence is framed in the present tense, 

and the helping verb ‘DO’ takes the base form of a verb with it. All the other parts 

of the sentence are correct. 

(1) North Korea has increase security on its 

(2) northern border with China, constructing new 

(3) fences guard towers under the pretext of stopping 

(4) anyone with the coronavirus from entering the country. 

(5) No error 

 

Ans: 0 
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Solution: In A, replace the base form verb REPLACE with the past participle form 

to fit in HAS + VERB present perfect tense construction. Thus, A is the right 

answer. 

(1) We frequently neglected to 

(2) show ourselves the same 

(3) level of affection and love 

(4) that we do for others. 

(5) No error 

 

Ans: 1 

 

Solution: In A, replace the second for verb NEGLECTED with base form NEGLECT 

as the sentence talks about a habitual action. Thus, A is the right answer. 

After the Roman Empire fell (A)/ in the fifth century A.D., separate (B)/ barbarian 

states begin to emerge (C)/ on its territory. (D) 

(1) A 

(2) B 

(3) C 

(4) D 

(5) No error 

 

Ans: 3 
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Solution: In C, replace the base form verb BEGIN with the second form verb 

BEGAN as the sentence describes a past event. Thus, C is the right answer. 

(1) The industrial revolution that happen in 

(2) the 18th century is seen as a landmark event 

(3) that broke the historical relationship between 

(4) human population and living standards. 

(5) No error 

 

Ans: 1 

 

Solution: (a) is the right answer. In A, replace the base form verb HAPPEN with 

second form HAPPENED as the sentence is in simple past tense, and talks about 

an event that took place in the past (the 18th century). 

a.) Science cannot solve the ultimate 

b.) mystery of nature because we ourselves 

c.) were part of nature and therefore part 

d.) of the mystery that we are trying to solve. 

e.) No error 

 

Ans: C 

 

Solution: (c) is the right answer. In C, replace the past tense plural verb WERE 

with present tense verb ARE as the sentence states an universal truth – us being 

part of nature. 

a) I felt as if I lost a dear friend when 

b) I got the news that the cashew tree 

c) in the compound of our home 

d) had fell in a storm. 

e) No error 
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Ans: (d) 

 

Solution: In D, replace the past verb form FELL with its past participle verb form 

FALLEN to fit the past perfect construction HAD+VERB. So, D is the correct 

answer. 

a) It is possible that if we don’t regularly 

b) engaging in social discussion, our use of 

c) language and other cognitive processes, such 

d) as attention and memory, will diminish. 

e) No error 

 

Ans: (b) 

 

Solution: In B, replace the present participle form verb ENGAGING with ENGAGE 

as we need a base form verb to fit in the present tense construction DO + NOT + 

VERB. Thus, (b) is the right answer. 
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